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21) 
16 of 355 of 15 of 2160 + √3969 - 448.98 = ? 

a) 25424.02 b) 18436.02  
c) 26834.02 d) 25174.02  
e) None of these 

 
 

 

22) ? = 122444  X 22023  ÷ 340414 

a) 316  b) 324    
c) 336  d) 354  e) 386 

 

23) If X = 10, Y = 7, then (𝑋−𝑌)4−187  X 9𝑋10𝑌 −6𝑋  = ? 

a) 44  b) 113    
c) 66  d) 81   
e) 69 

 
24) 3990 ÷ 57 + √361 + √324 = ?2 X 535 ÷ 729 X 

5 
a) 6.2  b) 4.5   
c) 5.6  d) 6.4   
e) None of these 

 
25) [(2211  ÷ 67)2 − 21  × √256] ÷ (549 – 213) 

= ? ÷ 1344 
a) 3052  b) 3012   
c) 3042  d) 3062   
e) 3032 

 
26) 784 ÷ √196 + 25.6 ÷ 2 X 1.5 ÷ √8100 X 3 =? 

a) 66.64   b) 76.54    
c) 56.64    d) 72.64  
e) 76.46 

 
 
 

 

27) 3 47 ÷ [(62 % of 620 X 7) ÷ 2401] = ?2 

a) 
2561  b) (3562) X √10    

c) (3275) X √10 d) 5283   

  
e) None of these 

 

28) (6561 X 117) ÷ 108 X √36 = 3? +4 ÷ 21613  X 39 
a) 10  b) 6   
c) 4   d) 8   
e) 2 

 

29) 13 75 ÷  (51213  ÷  √1225)  [24  + 37  (173  ÷ 6810)]  = 

?547310 
a) 65  b) 45   
c) 74  d) 84   
e) None of these 
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